
 
GOING VIRAL 

PASEO POR LA GALERÍA  

Problema original Tu trabajo  Respuesta 

Ejemplo de problema 

3 𝑝𝑝𝑝𝑝𝑝𝑝𝑝𝑝á𝑡𝑡𝑡𝑡𝑡𝑡𝑡𝑡𝑡𝑡 = 24 

𝑃𝑃𝑃𝑃𝑃𝑃𝑃𝑃á𝑡𝑡𝑡𝑡𝑡𝑡 + 2 𝑡𝑡𝑡𝑡𝑡𝑡é𝑓𝑓𝑓𝑓𝑓𝑓𝑓𝑓𝑓𝑓 = 18 

2 𝐴𝐴𝐴𝐴𝐴𝐴𝐴𝐴𝐴𝐴𝐴𝐴𝐴𝐴𝐴𝐴𝐴𝐴𝐴𝐴𝐴𝐴 ∗ 𝑝𝑝𝑝𝑝𝑝𝑝𝑝𝑝á𝑡𝑡𝑡𝑡𝑡𝑡 = 16 

2 𝐴𝐴𝐴𝐴𝐴𝐴í𝑓𝑓𝑓𝑓𝑓𝑓𝑓𝑓𝑓𝑓 + 𝑇𝑇𝑇𝑇𝑇𝑇é𝑓𝑓𝑓𝑓𝑓𝑓𝑓𝑓 = 9 

𝑇𝑇𝑇𝑇𝑇𝑇é𝑓𝑓𝑓𝑓𝑓𝑓𝑓𝑓 + 𝐴𝐴𝐴𝐴𝐴𝐴í𝑓𝑓𝑓𝑓𝑓𝑓𝑓𝑓𝑓𝑓 ∗  𝑝𝑝𝑝𝑝𝑝𝑝𝑝𝑝á𝑡𝑡𝑡𝑡𝑡𝑡 = ? 

 

3𝐿𝐿 = 24 → 𝐿𝐿 = 24/3 → 𝐿𝐿 = 8 

𝐿𝐿 + 2𝑃𝑃 =  18 → 8 + 2𝑃𝑃 = 18 → 2𝑃𝑃 = 10 → 𝑃𝑃 = 5 

2𝐸𝐸 ∗  𝐿𝐿 =  16 → 2𝐸𝐸 ∗ 8 = 16 → 2𝐸𝐸 = 2 → 𝐸𝐸 = 1 

2𝐻𝐻 +  𝑃𝑃 = 9 → 2𝐻𝐻 + 5 = 9 → 2𝐻𝐻 = 4 → 𝐻𝐻 = 2 

¿ 𝑃𝑃 + 𝐻𝐻 ∗ 𝐿𝐿 =? → 5 + 2 ∗ 8 =? → 5 + 16 =  21 

 

𝑝𝑝𝑝𝑝𝑝𝑝𝑝𝑝á𝑡𝑡𝑡𝑡𝑡𝑡 = 8 

𝑇𝑇𝑇𝑇𝑇𝑇é𝑓𝑓𝑓𝑓𝑓𝑓𝑓𝑓 = 5 

𝐴𝐴𝐴𝐴𝐴𝐴𝐴𝐴𝐴𝐴𝐴𝐴𝐴𝐴𝐴𝐴𝐴𝐴𝐴𝐴𝐴𝐴 = 1 

𝐴𝐴𝐴𝐴𝐴𝐴í𝑓𝑓𝑓𝑓𝑓𝑓𝑓𝑓𝑓𝑓 = 2 

𝑅𝑅𝑅𝑅𝑅𝑅𝑅𝑅𝑅𝑅𝑅𝑅𝑅𝑅𝑅𝑅𝑅𝑅 = 21 
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